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Name Date

J/‘} Base-Ten Pieces (N

A.

Irma showed her mom'’s age with base-ten pieces. She
displayed three skinnies and five bits. How old is her mom?

B. Jacob’s mom is 47. How can he show her age using base-ten
pieces?

C. To show the number 133, Jacob used 7 pieces: 1 flat,
3 skinnies, and 3 bits. Use base-ten shorthand to show
another way that uses more pieces.

K/ Addition Practice with Tens (N

A. 9+3= B. 90 + 30 =

C. 5+8= D. 50 + 80 =

E. =9+5 F. =90 + 50

G. =8+ 4 H. = 80 + 40

. 10+ 2 = J. 100 + 20 =

K. Explain how your answer to Questions C and D are different.
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